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JUST  ADD THE EXPWENTS.
—_

5)(3 . \OX“
= S—‘X°V°S( \O MXY A

- 50 xs*"\




September 05, 2014

HuaiptiinGg  wita ()__

Rue: LwaTever is oursoe me () AFFECTS
Ency TERY Tnsive e (),

B x4 1) = 30+ 3(1)
7~

= 3Ix+D

¥ TNCLuDE THE SIENS LHEN You
HULTPLY | MEN  App WP THE TERMS,

"qx(x-é) :

SHONSIIES

-4+ Aix




September 05, 2014

 OIAT F W 6T A ()_'rinESA () 7

T o Ench mine iy e 2 ().

(a@)

(e (238)+ ()6 + (N(-4)

C)Xa'\' - 8y+3¥ 4+ -4
——

bxd —5x =4

Rute: Everymine i WE FrsT () Gers A ]

(Qx —\)( 2% -4)

= (e)(3)+Hax) () +(1)(3)+ E)(-1)
bxo + -8x + -3x 4+ {4

\ 6 -Ux a4




